
Nejprve doplníme desítku. 4 + 8 =

4 + + =

Nejprve doplníme desítku. 4 + 9 =

4 + + =

Nejprve doplníme desítku. 4 + 7 =

4 + + =

Nejprve doplníme desítku. 3 + 8 =

3 + +
=

Nejprve doplníme desítku. 2 + 9 =

2 + + =



Nejprve doplníme desítku. 5 + 6 =

5 + + =

Nejprve doplníme desítku. 5 + 8 =

5 + + =

Nejprve doplníme desítku. 5 + 7 =

5 + + =

Nejprve doplníme desítku. 5 + 9 =

5 + +
=



Přepiš do sešitu:

9+7= 6+7= 8+6= 5+=14
8+3= 9+9= 5+7= 7+=13
5+8= 7+5= 9+4= 6+=14
6+9= 8+4= 7+8= 9+=17
7+4= 5+6= 6+5= 8+=13


